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Art of Teaching

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

Q11.

Q12.

Bloom's Taxonomy is divided into ____
learning domains.

Answer: Three learning domains:
cognitive, affective, and psychomotor

the

In self-assessment, students evaluate-
Answer: Own learning

Which age group is covered by RTE?
Answer: Between 6 to 18 years

From specific to general is used in
Answer: Inductive

The word heuristic comes from a
Answer: greek

A is envisaged as a blueprint and
guide map for actions in the classroom.
Answer: Lesson plan

A comprehensive chart of classroom
teaching learning activities is a part of -
Answer: Lesson plan

Microteaching is primarily utilized in:
Answer: Teacher training institutions

Difficulties in reading are referred to as:
Answer: Dyslexia

Which of the following is not a component of
classroom processes?
Answer: Evaluation
performance

of the teacher's

The importance of books for children
includes:

Answer: Developing critical thinking skills
& Gaining self-awareness

Effective inculcation of values in students is
more likely when the teacher:
Answer: Personally practices these values

Q13.

Q14.

Q15.

Q16.

Q17.

Q18.

Q19.

Q20.

Q21.

Teaching is a process of-
Answer: Transmitting knowledge by the
teacher to the learners

Which verb is associated with the
"psychomotor” domain of Bloom's
Taxonomy?

Answer: describe

Which element of a lesson plan shouldn't be
overly detailed?
Answer: Teacher script

Textbooks are most effective when used:
Answer: In conjunction with other learning
materials

Which of the following is not a reason for
forgetting?
Answer: desire to remember

Which of the following factors does not
affect the learning process?
Answer: Objective determination

Audio-visual materials are-
Answer: multisensory

Dienes blocks are used for -
Answer: addition and subtractions

According to NEP 2020, a child of the age of
5 years lies in -
Answer: Foundation stage
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Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Q28.

Q29.

Q30.

General Awareness

The primary agency of socialization in a
child’s life-
Answer: Family

In a progressive education-
Answer: Ample opportunities are provided
for the construction of knowledge

NCF 2005 talks of major shifts from-
Answer: Knowledge is given and fixed as it
evolves and is created

A child finds difficulty in making omissions,
reversals, and substitution while reading
text is an indication of-

Answer: Dyslexia

Carol Gilligan 1is related to which
development?

Answer: Moral development

The direct method of adjustment
Answer: Removing hurdles

A period of disorientation and discovery-
Answer: Adolescence

The knowledge of more languages than a
native language is-
Answer: Multilingualism

What kind of assessment ‘Sums up’ how
much a student has learned over time?
Answer: Assessment of learning

Q35.

Q36.

Q37.

Q38.

Q39.

Q40.

What is the number of districts in Bihar?
Answer: 38.

The financial capital of India?
Answer: Mumbai.

2023 Theme of Bihar Day -
Answer: Yuva Shakti ki Pragati’,

Which metal is used in the galvanization of
iron?
Answer: Zinc (Zn)

World Ozone Day is celebrated on?
Answer: September, 16

Who discovered the nucleus of a cell?
Answer: Robert Brown.

Math & Reasoning

Q41.

Q42.

Q43.

Q44.

If LCM =30, HCF = 5 and first number is 10
and second number is?
Answer: 15

Find the sum of all prime numbers who less
than 31.7
Answer: 129

If in radius is increased of 20% then what
will be increased in area?
Answer: 44%

The shopkeeper marked a good at 34% over
it's cost price. After that he gave a 40%
discount. Did he make a loss? What is the
percentage of such profit or loss?

Q31. Uses of Convex mirror-
Answer: When convex mirrors are used, the Answer: 19.6%
magn?ficatiorll of objects becomes simple. Q45. Pand Q can do a work in 6 days. Q and R can
e Itisusedinsunglasses. do the same work in 8 days while R and P
e It is used as a rear-view mirror in can do it in 10 days. They did the work for 3
automobiles, etc. days and then P left. How long will Q and R
Q32. Chemical name for urea? take if they work together?
Answer: carbamide. Answer: 3.3 days
Q33. Writer of Gitanjali- Q46. Pointing to Neha's picture, Nikhil said, "His
Answer: Rabindranath Tagore. mother's father's son's wife is the only
daughter of my mother-in-law". How is
Q34. Which disease is caused by mosquito bites? Nikhil related to Neha's mother?
Answer: malaria, chikungunya etc. Answer: Brother
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Q47. A, B, R D, I S, and T are sitting around a

Q48.
Q49.

Q50.

Social Science

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q8.

Qo.

circular table facing away from the circle. A
does not sit adjacent to I and T. B does not
sit adjacent to A. R sits fourth to the left of A.
D and B sit adjacent to each other. T sits
second to the left of I. Who sits exactly
between T and A?

Answer: S

20:30::100:?
Answer: 110

SNJ: QLH :: LAP :?
Answer: JYN

NAOB, PAQB, RASB, ?
Answer: TAUB

By which treaty did Russia withdraw from
the First World War?
Answer: Treaty of Brest Litovsk.

Which is the largest river in south India?
Answer: Godavari.

On what date is World Environment Day
celebrated?
Answer: 5th June

Kandla Port is located in which State?
Answer: Gujarat.

When did the signing of the Treaty of Sugauli
(Nepal) take place?
Answer: 1816

What is the length of the river Ganga?
Answer: Over 2,500 Km.

What materials do artists use to create
Madhubani paintings?
Answer: Coloured paste of powdered rice

Which tree is not typically present in a
deciduous forest?
Answer: Acacia.

Q10.

Q11.

Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

Q18.

Q19.

Q20.

Q21.

Q22.

Under which act was dyarchy introduced in
the provinces of India?

Answer: Montague-Chelmsford Reforms of
19109.

What is the total number of seats in Bihar
Vidhan Sabha?
Answer: 243

Adolf Hitler was born on-
Answer: 20 April, 1889 in Braunau in
Austria.

When did World War II start?
Answer: 1939

Who is recognized for discovering the West
Indies?
Answer: Columbus.

Second World War was fought from?
Answer: 1939-45

Who was the leader of the Bolshevik
Revolution in Russia?
Answer: Lenin.

Who is known as the Frontier Gandhi?
Answer: Khan Abdul Gaffar Khan.

Who started the Hindustan review?
Answer: Sachchidananda Sinha

The Council of Ministers is collectively
responsible for which of the following?
Answer: Lok Sabha

Kol revolt took place in-
Answer: Chhota Nagpur region of present-
day Jharkhand.

The minimum age of the voter in India is-
Answer: 18 years by 61CAA

When was the right to property removed
from the category of fundamental rights in
India?

Answer: 44th Amendment of 1978
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Q23. Allotment of Election symbol by Q34. When did Jharkhand separate from Bihar?
Answer: Election Commission of India Answer: 15 Nov 2000.
Q24. RTE Act, 2009 is for the children of which | Q35. Who was the peasant leader from Bihar?
age group? Answer: Sahajanand Saraswati
Answer: for 6-14 age, 1-8 class,
Q36. Largest district in Bihar
Q25. France war - Answer: Paschim Champaran.
Answer: Louis 15
_ Q37. Inwhich state is the Macmohan line in India?
Q26. :reaty ofl\gelrgsallles - Answer: Arunachal Pradesh.
nswer:
27, Collecti ibili Q38. Where did the Chuar Rebellion take place?
Qz7. Ao ectlveLrel:;S)oE}sll ity Answer: West Bengal's Bankura district
nswer: Lok Sabha
Q28. Who was the first deputy Chief Minister of Q39. When did the bloody revolution of Russia
Bihar? take place?
Answer: Anugraha Narayan Singh Answer: 22 January 1905
Q40. Silk city of India?

Q29.

Q30.

Q31.

Q32.

Q33.

Bloody Revolution -
Answer: 1905

Rowlatt act -
Answer: 1919

Which state is the largest producer of jute in
India?
Answer: West Bengal.

Who was the first Governor of Bihar-
Answer: Jairamdas Daulatram

Bihar Legislative Assembly Speaker-
Answer: Nand Kishore Yadav.

Answer: Bhagalpur
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